
®

Dump Cart

Product #10909
4 cu. ft. Dump Cart

PreferredLiving.com

Instructions



Parts List

Tray (x1) Locking Frame (x1)

Flat (x1) Bottom Frame (x1)

Front Steering Frame (x1) Support Angle Iron (x1)

Supporting Angle Iron (x1) Rear Support Frame (x1)

Wheel (x4) Handle (x1)

11



Hardware List

Bushing (x1) Washer (x5) M16 (x1)

M8x20 (x4) M8x20 (x6) M10x65 (x2)

M10x40 (x4) M10x45 (x2) Cotter Pin (x4)

Handle Pin (x1)

2



1. Remove the Bolts (x4) from the Locking Frame.
2. Attach the Locking Frame to the Tray with the Bolts.

Step 1

Step 2

1. Attach the Flat to the Tray with Bolts (x6).

M8x20 (x4)

M8x20 (x6)

3



Step 3

Step 4

1. Attach the Bottom Frame to the Flat with Bolts.

1. Place the flat side of the Bushing face down on the shaft of the Bottom Frame.
2. Place the Front Steering Frame on the shaft on top of the Bushing.
3.  Attach the Bushing and the Front Steering Frame to the shaft with a washer and nut. 

(Note: a gap is required to allow the Front Steering Frame to rotate.)

M16 Nut (x1)
Washer (x1)
Bushing (x1)

4

M10x45 (x2)



Step 5

Step 6

1. Attach the Rear Support Frame to the Bottom Frame with Bolts (x2).

1.  Attach the Supporting Angle Irons to the Bottom Frame and Rear Support Frame 
with Bolts (x4).

M10x40 (x4)

5

M10x65 (x2)



Step 7

Turn the Dump Cart upside down so it is resting on its wheels.

1. Attach the Wheels to the axles with the holes facing outward.
2. Place the Washers on the axles (x4).
3. Insert the Cotter Pins (x4) into the holes on the axles and bend them to fasten.

6



Step 8

1. Remove the Pin from the Front Steering Frame.
2.  Hold the Handle in position aligning the holes in the Handle with the holes in the 

Front Steering Frame and place the Pin through the holes. 
3. Secure the Pin with the Handle Pin.

Assembly is complete. To dump, depress the handle on the Tray.

7


